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x-morph ="0OSHM:HRd/Ngmpa” x- x-morph="0OSHM:HC/To” X-

cantillationLevel =1.1.2.1” "strong = "d¢8®6lldtiohilevel = 70.0” strong = 5971 |LILJ/LILILILIL]
x-morph="0OSHM:HTd/Vhrmpa” x- a”x-morph="0OSHM:HNcmsc/Sp3ms”

wType ="x-ketiv” 8 ”strong ="1/3605|[Tstrighg = ”3478| IO x-

x-morph =”0OSHM:HR/Ncmsc”l [ [ 1] fmidrph # '|©8bHg FNg#78 tantillationLevel = 0" |
x-morph =”OSHM:HNp” x-cantillationLeVedtrotig 203559 | I LI AT]

”strong ="d/6918| LI/ Ja”  x-morph ="0SHM:HC/Vhv2mp”
x-morph ="0SHM:HTd/Aampa” 89 Marks an anomalous form. 90
”strong = "1/3068| L1111/ strong="1/1004| LILILI/L]  b” x-
x-morph =”"OSHM:HR/Np” x- morph ="0SHM:HR/Nemsc” L/ N | strong =71
cantillationLevel =”1.1.2” "strong = "54 kdhorph ="OSHM:HNcmpc/Sp2mp”
:2+ »strong = ”d,/995|LLUOICCC,/O000000C/0 x-morph = "OSHM:HTd/Vhrmpa”
n

90q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
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x-cantillationLevel =”1.0” "strong = "k/428@hg + P1/261 | I/

x-morph ="OSHM:HR/Ncfpc/Sp2mp” x-morph ="0OSHM:HR/Ncmpc/Sp2mp”
x-cantillationLevel = ”1” ”strong = "b/3793dantillation.ével = 70.1” strong = "1/6213| LI LI ILIC] /0]
x-morph =”"OSHM:HR/Ncmsc” x- a” x-morph ="0OSHM:HR/Vqc”

cantillationLevel = 70.1.1” ”strong = ”1732{téng ="k 1697| I LI/ 11T  x-

x-morph = ”OSHM:HNp” x-cantillationLewelrpi6: TOSHM:HR/Nemsc” LI |strong ="3068"
"strong = "4428|[ ] LI x- x-morph="0OSHM:HNp” x-cantillationLevel ="0.0”
morph =”OSHM:HNcmsc” ’strong = ”3478rdnlgl="b /3027 | 1 1/L 1] X-

x-morph = ”OSHM:HNp” x-cantillationLewelrpl6: TOSHM:HR /Ncbsc” LI I[1[)|strong = 74872”
"strong = "c/b/4385|[LILILILILIIIC]/L)/x¥morph = "OSHM:HNp” x-cantillationLevel = 0" |
x-morph="0SHM:HC/R/Ncmsc” x- [ 7 strong="c/7311| LA

cantillationLevel = "0.0” ”strong = "801 04"/ | X-fdorpH = ”OSHM:HC/Vhw3ms”

x-morph = "OSHM:HNp” strong ="1121 |@HAﬂ@§U2977|\ HOOOHOO00OO0E

a” x-morph = ”OSHM: HNcmsc/Smes” x-morph ="0SHM:HNp” strong ="1/1121|LILILILICIC/AC]

x-cantillationLevel = 70" a” x-morph ="OSHM:HR/Ncmpc”

”strong ="¢/5975| LI/ strong="d/5971|LILILI/A0] a7 x-

x-morph ="0OSHM:HC/Vqv2mp” morph ="0OSHM:HTd/Ncmsa” X-

”strong ="b/6944| | I LILILILILI/AI]  cantillationLevel =”1.2.0.1” ”strong = "6629 | || ]
x-morph="0OSHM:HRd/Ncmsa” x- x-morph="0SHM:HNcbsa” X-

cantillationLevel =”1.1.1” ’strong = "1/688tllationllevel=1.2.0.0” strong = 73532111 U]
x-morph = "OSHM:HR/Ncfpc” x- x-morph ="0SHM:HNcmpa” strong = "c,/1121| LA
cantillationLevel = "1.1.0” strong = ”1004|! X-floktph = ”"0SHM:HC/Nempe” UL | strong = 75795
b” x-morph ="0OSHM:HNcmsc” x-morph="0SHM:HNcfpa” X-

”strong ="d/1| ] ILLLCEATI]  x-  cantillationLevel =1.2.0” strong = ”d/3605 | LI/ 1]
morph ="0OSHM:HTd/Ncmpa” x- x-morph="0SHM:HTd/Ncmsa”

cantillationLevel =1.1” "strong = ”1/25Vsttdnigl L fa453 {1 A0
x-morph =”"OSHM:HR/Ncmpc/Sp2mp” x-morph ="OSHM:HRd/Ncmpa”  x-
x-cantillationLevel =”1.0” strong = ”112tHdtillatiédllevel = ”1.2” "strong = "1/3605|[ 1 IL1/L]]

a” x-morph =”OSHM:HNcmpc”  x-morph ="0SHM:HR/Ncmsc”l [T LI/ | strong ="d/4672”
strong="d/5971|LILILILI/AJ] a” x- x-morph="0SHM:HTd/VNrmsa” x-
morph ="OSHM:HTd/Ncmsa” x- cantillationLevel ="1.1.1” "strong = "1/4557 |/

cantillationLevel =”1” "strong = "c/2515{-thofph E"OSHM:HR /Ncmsc” X-
x-morph = ”OSHM:HGC/Ncfsc” strong = " k@@diilatidnLevel = "1.1.0” "strong = "7970| LU
b” x-morph = ”OSHM:HNcmsc”[ Il ||| ]| steomgpti £ OSHM:HAcbpa” "strong = 7505 | L[]

x-morph ="OSHM:HNcmsa” x- x-morph="0OSHM:HAcbsa” X-

cantillationLevel = "0.0” ”strong = ”1/38&htilldtiohi.evel & 1.1” “strong = ”c/1241 | I/
x-morph =”"OSHM:HRd/Ngmpa” x-morph =”OSHM:HC/Ncbsa” X-

x-cantillationLevel = 0" | ®  cantillationLevel ="1.0” ”strong = "7969 | I [ [ [ I[LI'1"1']
strong = e/7819|LILILILLLELL/LE x-morph ="0SHM:HAcmsc” ”strong = 505 | LI
a” x-morph ="0SHM:HC/Vqv2mp” x- x-morph="0OSHM:HAcbpa” X-

cantillationLevel =”1.0” ”strong = ”d/6468ltillationLeyel= 717 “strong = 7428 LI
x-morph="0SHM:HTd/Ncmsa”  x- x-morph="0OSHM:HPdxcp” X-

cantillationLevel = ”1” "strong = ”c/694 AanfilidtiohLdvel = "0l0/ Istrong = "m/7399| LA
x-morph="0SHM:HC/Vtv2mp”  x- x-morph="0OSHM:HR/Ncmsc”
cantillationLevel =”0.1.0” strong = "c/355&ong = id/a428) I T LI/

”

a” x-morph="0SHM:HC/Vhv2mp” x-morph="0OSHM:HTd/Ncmsa”  x-
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cantillationLevel="0"L] [] 8 cantillationLevel ="1.0.1.0” "strong = "251 | /L [LILIL]JLI[]
"strong = "c/8269|Ll/LILILILILILIL/AI]  x-morph="0SHM:HNcmpc/Sp3ms”

x-morph =”0OSHM:HC/Ncmpc/Sp3ms” x-cantillationLevel =”1.0.1” "strong = "c,/2811 | LI LI
x-cantillationLevel = "1.0.0.0” "strong = ¥,th073H/= TASHM:HZ/Np” strong = ”c/3273 | LI/
x-morph =”OSHM:HR/Ncfsa” strong = "Ix588iph/="08HM:HC/Np” x-cantillationLevel = "1.0.0”

a” x-morph ="0SHM:HRd/Ncmsa” x- ”strong = "c,/3107 |0

cantillationLevel = "1.0.0” "strong = ”1/3%48¢rph =" OSHMIHC /Np” x-cantillationLevel = "1.0”
x-morph = "OSHM:HRd/Ncmpa” ”strong = "8269|[ | [ [ [ ]'] x-morph ="0OSHM:HNcmpc”
”strong = "c/1/3881 |10 /strong = "d /3881 | LI ILIEIEIC] /)]

x-morph ="0OSHM:HC/Rd/Ngmpa” x- x-morph="0SHM:HTd/Ngmpa” x-

cantillationLevel = ”1.0” strong = "7311|chntillationllevel = 717 strong = 7311 | L

a” x-morph="0SHM:HVhp3cp” x- a” x-morph ="0OSHM:HVhp3cp”

cantillationLevel =”1” ”strong = "2518 [ fistrohg + P1/8881 | I 1 1 LA

x-morph =”OSHM:HNp” strong = "c/2148nbtph/=IOSHM:HRd/Ngmpa”

a”  x-morph="0OSHM:HC/Np” x- ”strong="1/6453| 11/

cantillationLevel =”0.2.1.0” "strong = ”cx3hptphl= IOSHM:IMRd/Ncmpa”  x-

x-morph = ”0SHM:HC/Np” x- cantillationLevel =”0.1.0” "strong = "2568| LI [_ILI_ILILI]
cantillationLevel = "0.2.1” "strong = ”505Zhorph ="OSHM:HAcmsc” "strong = 505 |
x-morph ="OSHM:HNcmpc” x- x-morph="0SHM:HAcbpa” x-cantillationLevel ="0.1”
cantillationLevel =”0.2.0” strong = ”100&$tiong =e/1241 LA x-

b” x-morph ="OSHM:HNcmsc” morph="0SHM:HC/Ncbsa” x-cantillationLevel =”0.0”

"strong = "d/430 |/ 7strong =72568|LLILIL] x-morph ="OSHM:HAcfsa”
x-morph ="0SHM:HTd/Ncmpa” x- “strong="3967| I [ ] [lx-morph="0SHM:HAcbpa”
cantillationLevel = "0.2” "strong = ”1/3548{anfilldtidn{.ével="0"[ | 1° strong="c/3559| I [ IIILILICI]/
x-morph="0SHM:HRd/Ncmpa” x- a” x-morph="0SHM:HC/VNw3fs” x-

cantillationLevel =”0.1.1.0” ”strong = ”5édmttfillatiomileVdl="1.0” ”strong = "d,/5656 | [ I I I A]C]
x-morph =”0SHM:HVqp3cp” "strong = "k/6emph =P OSHMIH T /Ncfsa” X-

x-morph ="0SHM:HRd/Ncmpa” x- cantillationLevel="1" "strong = "c,/5975|[ILJ_ILILILILICLCCL /L
cantillationLevel =”0.1.1” ’strong = ”505\mdrph £ OSHMHC/Vqw3mp”

x-morph ="0OSHM:HAcbpa” x- "strong ="d/3548| [ I LI

cantillationLevel =”0.1.0” "strong = "c/888¥JrpH + 'ASHM:HTd/Ncmpa” strong = 75921 |[ ] ']

x-morph =”0OSHM:HC/Acfsa” "strong = "8967jlorpH = TdSHM:HR”[ |/ [ [ ] ]I 1]|strong ="5977”

x-morph ="OSHM:HAcbpa” x- x-morph="0SHM:HNcmsc/Sp3mp”
cantillationLevel =0.1” strong = c/1241dantillatiohl.ével = 70.0.0” "strong = "c/d /3881 | I I I
x-morph ="OSHM:HC/Ncbsa” x- x-morph="0SHM:HC/Td/Ngmpa”

cantillationLevel = "0.0” ”strong = "79694tfong #5921 |[ | | |a” x-morph ="0SHM:HR”[ |/ I
x-morph =”0SHM:HAcfsa” "strong = ”39%6 Aot pH = ITASHM:HNcfpc/Sp3mp” x-

x-morph = ”0SHM:HAcbpa” x- cantillationLevel ="0.0” "strong = "k/4687 |LILILILILILIICT/L0C)]
cantillationLevel ="0”L] ° ”strong = "c/366&}rpH + T{OSHNHR /Ncfsc” “strong = "d /4428 | LI/
x-morph ="0OSHM:HC/Np” x- x-morph="0OSHM:HTd/Ncmsa”  x-

wType = "x-ketiv” °! ”strong = "c/8098|[dantilldtiohi.ével =107 1" strong="c/7819| I ILIILIIIII]
x-morph =”"0OSHM:HC/Np” "strong = ”c/5241 7-thorph/="0SHM:HC/Vqw3mp”
x-morph = ”OSHM:HC/Np” x- x-cantillationLevel ="1.0” "strong ="d/6453|[ LI 1L ILILIL1/L1]

91+ strong="c/3562| I LLLLOCCCOAIO0OOOOOO0/AT - x-morph ="0SHM:HC/Np”  x-
cantillationLevel =”1.0.1.1”
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x-morph="0SHM:HTd/Ncmsa”  x- x-morph="0OSHM:HC/Rd/Ncmpa” x-

cantillationLevel = ”1” ”strong = ”c/2236dantilldtiohLevel =Z/0.1.0” strong = "c/b/6745| I A A
x-morph = ”OSHM:HC/Vqw3mp” "strong=nidr#548|0S HM:FI¢/Rid)/ efpa”

x-morph ="0SHM:HTd/Ncmpa” x- cantillationLevel ="0.1” "strong = "c,/7323 |11
cantillationLevel =”0.1.0” “strong = "m/8086tph= IOSHM/HC/Vhw3mp”  x-

x-morph = ”OSHM:HR/Ncbsc/Sp3mp” cantillationLevel =0.0” ”strong = ”1/3605|[JIL1/[]_]
x-cantillationLevel = "0.1” ”strong = "c/dx388dgh ="OSHM: FR/Nemsd” | LI |strong="1121
x-morph = ”OSHM:HC/Td/Ngmpa” x- a” x-morph="0SHM:HNcmpc” strong="d/5971| LI/
cantillationLevel =”0.0” ”strong = ”65844”/ x-mbiph/="10SHM:HTd/Ncmsa” x-

x-morph =”0OSHM:HVhrmpa” x-cantillatiemtilafierievel = 70" | 14 strong="c/310| I/

12 7strong ="c/5493|LLILILILILIIILI]/Ld” x-morph = "OSHM:HC/D” x-cantillationLevel = 71.2.1”
x-morph = ”OSHM:HC/Vhw3mp” strong stfay$$36559| LI L] a” x-

a” x-morph="0SHM:HTd/Ncfsa” x- morph= ”OSHM HVhp3cp” "strong ="1| LI IL1/L]]
cantillationLevel = "1.2.0.1” "strong = "1 s5#ictph/="OSHM:HR /Sp3mp” x-cantillationLevel = 71.2.0”
x-morph="0SHM:HR/Vqc/Sp3mp”  ”strong= ”c/1/3548 |ooCCO00000,00,400

x-cantillationLevel = "1.2.0.0” "strong = %653 (= TOSHM:HC/Rd /Mdmpa” x-cantillationLevel = "1.2”
x-morph = ”OSHM:HR/Ncfpa” strong = "kti@@g 13588[[[[ | I ] a” x-morph = "OSHM:HC”

b” x-morph ="0OSHM:HR/Ncmsc”[ | Il [ [Mstronjgt=dig 3548/

x-morph ="OSHM:HNcmpa” x-cantillaticaiergh="10S0M:HTd/Ncmpa” x-cantillationLevel = 71.1.0”
strong ="1/1121| LILIII/LT a” x- strong="1121| 11 ][ ['Ta” x-morph = ”OSHM:HNcmpc”

morph ="OSHM:HR/Ncmpc” strong = "de5rg = "175| [ [ [ ]x-morph ="0OSHM:HNp”

a” x-morph="0SHM:HTd/Ncmsa” x- x-cantillationLevel ="1.1" strong = "b,/5927 |0
cantillationLevel = "1.2” "strong = ”1/71 26thofph ="0SHM:HR /Vhc” x-cantillationLevel = "1.0.0”

x-morph = ”OSHM:HR/Vhc” x-cantillaticsttengl="d/3980 |[ [ [ I}/ I ]a” x-morph ="OSHM:HTd/Ncfsa”
"strong = "1/3068| LTI/ x- 7strong="c/d/2459]| 1 I 0L 0400

morph ="OSHM:HR/Np” x-cantillationLewelorph 2”OSHM:HC/Td/Ncmpa” x-cantillationLevel ="1.0”
"strong = "k/3789| LI/ 7strong ="5704|[ [ || x-morph =”0OSHM:HR”[ LI [']]|strong ="3915’
x-morph="0SHM:HRd/Vgsmsa” x- x-morph="0OSHM:HNcmsa” x-cantillationLevel="1"
cantillationLevel =”1.0” strong = "b/5612trohg = *d/dy3881 |1 I/

a” x-morph ="0OSHM:HR/Ncmsc” "strong=aiei@t2H IOSHM:HC/Td/Ngmpa” x-cantillationLevel = ”0.1.0”
x-morph = ”OSHM:HNp” x-cantillationLestebsg’+”3559| LI I a” x-morph = "OSHM:HVhp3cp”
strong="c/3651|LILILILI/AI] ¢ x- 7strong="1|lILIL[]/]]x-morph="0SHM:HR/Sp3mp”

morph ="0OSHM:HC/Tm” x-cantillationLescalntiT@8nLevel = ”0.1” "strong = "c/1/3548| LU A0 /00
"strong = "1/1241|JLILILLIC/L] x- x-morph ="0SHM:HC/Rd/Ncmpa” x-cantillationLevel = ”0.0”
morph ="OSHM:HRd/Ncbsa” x-cantillatbordreyel 2 1@1| | [ [ [ ]1']a” x-morph =”"0SHM:HNcmpc”

13 7strong ="c/1310| LI IO strong =175 | LU x-morph = ”OSHM:HNp”
x-morph =”"0SHM:HC/Vpw3mp” "strong=ciddkaRinl.dvel = 1071 11> ”strong="c/d/7891 |LILI LI IO A

x-morph =”OSHM:HTd/Ncmsa” x-cantil betitoripdyvel 29'SHMOC/Td/Vormpa” strong = "1121 | L[]

"strong = "b/784|LILILILILI/LII] x-morph & 0osiaMiR 4pSERdaPINcmpce” [L[LILIL|]|strong ="623”
x-cantillationLevel = 71.0” ”strong = "k/4641drpH = TOSHM:HNp”|xldantillationLevel =71.1.2.0”

x-morph =”0OSHM:HRd/Ncmsa” x-cantilkitiog @v&$211] | | a” x-morph = ”0SHM:HR”[ /LI |strong =~
"strong = "c/d/6944 | IILILILIICILN/ idrph = "OSHM:HNcmsc/Sp3mp” x-

x-morph =”0OSHM:HC/Td/Ncmpa” "strongrtilleicd|Level # P1.1.2% fstrong = "k /4687 | LI/

x-morph = ”OSHM:HVpp3cp” x-cantillatiomhergh="WS$HN:HR /Ncfsc” "strong = ”1732| LI

strong ="b/5518| I L [LILILILIIL/ ] x-morph="0SHM:HNp” x-cantillationLevel =”1.1.1”

a” x-morph =”OSHM:HRd/Ncbpa” ”strofgtesteg b 17823 |LILILILILI/A [ I¢-mgrph = "OSHM:HC/Np”
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x-cantillationLevel ="1.1.0.0” "strong = st /44 28| [/ ]/L]] x-morph ="0OSHM:HTd/N¢
x-morph =”0OSHM:HC/Np” ”strong = "c/3@8&dig/="20%7|ILI A I x-

x-morph = "OSHM:HC/Np” x-cantillatiomhevph="10BHM:HNp” x-cantillationLevel = "0”|

”strong = "2374|[ 1 1L ']"| x-morph = "OSKivbHQkerts¢8213 |

"strong ="d/4428| LI/ x-medph mb@stVIESHMNEGsY qw3mp” strong = 71121 | L[]
x-cantillationLevel ="1.1” "strong = "c/da’7878¢rph = POSHNIHNdmpa L1 1L |strong =734
x-morph = "OSHM:HC/Td/Ncmpa” x-cantithatiphkeVOISHM:BINp” ”strong = ”d /4672 | 1L ICIETC
"strong = "1/8179|LILILILILILl/L] ] x-morphms@SHMOERIMdiRd’VNrmpa” x-cantillationLevel = "1.0.0”
"strong = "c/8179 | LIIILILIL]/L) x-morptron@SHBEA(E /Ndmsaidorph = "OSHM:HTo”[ I LI/
x-cantillationLevel =”1” 92 BHS has beerx-morph = "OSHM:HTd/Ncmsa” x-cantillationLevel =”1.0”
faithful to the Leningrad Codex where “strong="b/6256|[ [ [ [ /[ ] ] |x-morph="0SHM:HRd/Ncbsa’
there might be a question of the validity ”strong="d/1931 |/ ILJ_Ll/[]lx-morph="0SHM:HTd/Pp3fs”
of the form and we keep the same form asx-cantillationLevel = 1" "strong = "c/853| LI I[Ll/[]]

BHS. "strong = "369|[ [ [ ] ]| x-morph = 3Q8HMHHTHOSHM:HC/To” | I [ []|strong =2282”

"strong = "1|LILILIL/L ] x-morph = "OSHM:HR/$h3ni@SHM:HNcmsc” “strong = "d /4682|111l
x-cantillationLevel =0.1.1” "strong = "1 55498}t + "OSHM:HTd/Ncfpa” x-cantillationLevel = ”0.0”
x-morph =”0OSHM:HR/Vqc” x-cantillatiofsteoeg="0.a51] ||| ][] x-morph ="OSHM:HAcmsc”
strong ="m/5921|_LILILl/L][]a” x-morphsttesgavt:BIR/A"| | [ | | | ] x-morph ="0SHM:HNcmpa”
"strong = "5656|[ /L[ I LI x-monptentiDstiddiiéNelsc/8H3mp ™ strong = ”c,/3808| 1L 111/
x-cantillationLevel = 70.1” strong = ”358&}morph = ”OSHM:HC,/Tn”[ LI LU strong = 76213

a” x-morph ="0SHM:HC”[ LIl l/L [ 1] & |stromgh 22508HM:HVNp3ms” "strong = "6453| I 1 ]]
x-morph = ”0OSHM:HNcmpc/Sp3mp” ”strongorph ~3883HNMIHNdmsa striong = "3644| LI /L
x-morph ="OSHM:HTd/Ngmpa” x-cantiRatiomphvel ©3HBI'HR /Sp3ms” x-cantillationLevel =”1.1.0”
strong = 3559 ILILILILILILILI) a” x-morph str@ggaviirsapsitp LI/

”strong = "1|LILIL[[]/L ][] x-morph = ”OSHM:HR$h3ni®SHM:HR /Np” x-cantillationLevel = "1.1”
x-cantillationLevel ="0”[] '° strong = "c/8G68f * Pt} 3117 |/ 1/ ] x-morph ="0OSHM:HR/Ncmpc
a” x-morph = ”OSHM:HC/VNw3fs” x-cantillatioHheioeiet@l 2:01.0” "strong = 8050| LI I ]
"strong = "3605|[ ]| x-morph = ”OSHM:HiNrphse”? OSHNIHNp” " sisong =2 56680 | LI/
x-morph = ”OSHM:HNcfsc” "strong = ”3068)ofph= "ASHM:HTd/Ncmsa” x-cantillationLevel = "1”
x-morph = ”OSHM:HNp” x-cantillationLeistterig=2.0,8605|[ | | |/ | | x-morph ="0SHM:HC/Ncmsc”[ I |l
"strong ="b/3117| 1L/ ] x-morpheotpis HNONR& Mdbesapc” “strong = "3478 | ILIIICCL
"strong ="d/1931|ILILILILl/L] x-morph »MSHNEFTOSHPM3HIND” x-cantillationLevel = 70.1.0.2”
x-cantillationLevel ="1.2.0” strong = "1/6218tohg =" 3808/ [ | | x-morph ="0SHM:HTn”[[LILILILILILIL]|
a” x-morph ="0OSHM:HR/Vqc” "strong =&"dx&4b8phl="10SHM/HVqp3cp” x-cantillationLevel = ”0.1.0.1”
x-morph = "OSHM:HTd/Ncmsa” x-cantilstienigevélke#62331 | LI Ll/L] ] |x-morph ="0SHM:HRd /N
"strong = "c¢/5927 | LI/ x- strong =834 |1 1] a” x-morph ="0SHM:HTr”L I [ ILILILIC
morph ="0OSHM:HC/Vhc” strong = "593@{! X-totphl= "OSHM:HVqp3ms” ”strong = 72977 | LI LI
a” x-morph = ”OSHM:HNcfpa” x-cantillatiembepbl="0SHM:HNp” x-cantillationLevel = ”0.1.0.0”
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